



We want to derive this equation.

Solution approach will be stress (Airy) function.

Typical approach for solving elastodynamics (statics)

Balance low & V.G + pb = Pü
EOM equation of motion
- constitutive equal is
$$B = \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^$$

Constitutive equation

Hook's law Isotropic 3D $T_{ij} = \lambda \delta_{ij} E_{kk} + 2\mu E_{ij} \quad \text{or} \quad \mathbf{T} = \lambda \mathbf{I}_E + 2\mu \mathbf{E}$ $2D \text{ (plane strain)} \begin{cases} \sigma_{xx} \\ \sigma_{yy} \\ \sigma_{zz} \\ \tau_{xy} \end{cases} = \frac{E}{(1+\nu)(1-2\nu)} \begin{bmatrix} (1-\nu) & \nu & 0 \\ \nu & (1-\nu) & 0 \\ \nu & \nu & 0 \\ 0 & 0 & \frac{1-2\nu}{2} \end{bmatrix} \begin{cases} \varepsilon_{xx} \\ \varepsilon_{yy} \\ \gamma_{xy} \end{cases}$ $2D \text{ (plane stress)} \begin{cases} \sigma_{xx} \\ \sigma_{yy} \\ \tau_{xy} \end{cases} = \frac{1}{1-\nu^2} \begin{bmatrix} 1 & \nu & 0 \\ \nu & 1 & 0 \\ 0 & 0 & \frac{1-2\nu}{2} \end{bmatrix} \begin{cases} \varepsilon_{xx} \\ \varepsilon_{yy} \\ \gamma_{xy} \end{cases}$ $p = \rho \mathbf{V}$

Talki

Displacement approach



We can go in the other direction using the stress (Airy) function approach.

Stress function approach

What are Airy stress function approach?

Use of stress function ⇒

Balance of linear momentum is automatically satisfied (no body force, static)

$$\psi(x_{1}, x_{2}) \rightarrow \overline{\sigma_{ij}} = -\psi_{,ij} + \delta_{ij}\psi_{,kk} \qquad (1)$$

$$\sigma_{ij} = -\psi_{,ij} + \delta_{ij}\psi_{,kk} \qquad (1)$$

$$\sigma_{ij} = -\psi_{,ij} + \delta_{ii}(\psi_{,kk}) \qquad \sigma_{ii} = -\delta_{ii} + \delta_{ii}(\psi_{,kk}) \qquad \sigma_{ii} = -\delta_{ii} + \delta_{ii}(\psi_{,kk}) \qquad \sigma_{ii} = -\delta_{ii} + \delta_{ii} + \delta_{iii} + \delta_{ii} + \delta_{ii} + \delta_{ii} + \delta_{ii}$$

$$V_{3,k} = \sum_{k=1}^{k-1} \frac{J_{3,k}}{J_{3,k}} = V_{3,1} + V_{3,2}$$

$$V_{3,k} = \sum_{k=1}^{k-1} \frac{J_{3,k}}{J_{3,k}} = V_{3,1} + V_{3,21} = V_{3,22}$$

$$V_{3,1} = -V_{11} + 1((Y_{11} + V_{3,21}) = -V_{12} = V_{3,0} = V_{11}$$

$$V_{3,1} = -V_{12} + \frac{S_{12}}{S_{12}} ((Y_{3,11} + Y_{3,21}) = -V_{12} = V_{3,0} = V_{11}$$

$$V_{3,1} = V_{3,22} + \frac{S_{13}}{S_{13}} ((Y_{3,11} + Y_{3,21}) = V_{3,11} = V_{3,11}$$

$$S_{0} \quad f_{01} = 2D \quad \text{shress es one obtained as}$$

$$V_{--} = V_{12} + \frac{S_{12}}{S_{12}} = V_{3,22} = V_{3,11} = V_{3,12}$$

$$V_{--} = V_{12} + \frac{S_{13}}{S_{12}} (Y_{3,11} + Y_{3,22}) = V_{3,11} = V_{3,11}$$

$$V_{--} = V_{3,22} = V_{3,12} = V_{3$$

.

.

$$E(Y_{12})_{,1} + (-Y_{12})_{,2} = Y_{2221} - Y_{2122} = 0$$

$$E(Y_{12})_{,1} + (Y_{11})_{,2} = -Y_{121} + Y_{112} = 0$$

$$SO \quad \text{shesses obtaned from (2)}$$

$$altomatically \quad \text{stand} \quad Y \in OM \quad (\text{inb=0} , i=0)$$

- Choose
 Compute stresses from (2)
- 3. Compute strains from

4. Compute displacement by integrating strain

$$\mathcal{E} = \frac{1}{2} \left(\nabla \alpha + \nabla \alpha \right)$$

, normate
 $\int \int dx = known$

Maybe not so fast, ...

Example:

$$\begin{aligned}
\mathcal{Y} &= \chi_{1}^{4} \quad \text{in } 2D \\
\int_{\partial z_{1}}^{\partial z_{1}} \int_{\partial z_{2}}^{\partial z_{2}} \int_{\partial z_{1}}^{\partial z_{1}} \int_{\partial z_{1}}^{\partial z_{1$$

$$\frac{\mathcal{E}_{11} = \frac{\mathcal{E}_{11}}{\mathcal{E}_{1}} = 0}{\mathcal{E}_{11}}$$

$$\frac{\mathcal{E}_{11} = \mathcal{U}_{1,1} = 1}{\mathcal{E}_{11}} = \frac{1}{2} \frac{\mathcal{E}_{11}}{\mathcal{E}_{11}} = 0$$

$$\frac{\mathcal{E}_{11} = \mathcal{U}_{1,1} \times \mathcal{E}_{11} = \frac{1}{2} \frac{\mathcal{E}_{11}}{\mathcal{E}_{11}} \rightarrow \mathcal{U}_{2} \cdot \int [12 \times 1^{2} J_{12} + g(X_{1})] = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1})}{\mathcal{E}_{12}} = \frac{1}{2} \frac{\mathcal{E}_{11}}{\mathcal{E}_{12}} + \frac{1}{2} \frac{\mathcal{E}_{11}}{\mathcal{E}_{11}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1})}{\mathcal{E}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1})}{\mathcal{E}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1})}{\mathcal{E}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{11}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) = 0}{\mathcal{U}_{12}} = 0$$

$$\frac{\mathcal{U}_{12} = 12 \times 1^{2} J_{12} + g(X_{1}) =$$

<u>ب</u>

ME524 Page 7

1

In 2D the problem is that we have 3 equations and 2 unknowns (u1, and u2). This cannot always be solved!

If we satisfy the following compatibility conditions, then we can integrate strain to derive displacement:

Can we always obtain u by integration? No

3 displacements (unknowns) 6 strains (equations)

Need to satisfy strain compatibility condition(s)

$$\frac{\partial^2 \varepsilon_{ik}}{\partial x_j \partial x_j} + \frac{\partial^2 \varepsilon_{jj}}{\partial x_i \partial x_k} - \frac{\partial^2 \varepsilon_{jk}}{\partial x_i \partial x_j} - \frac{\partial^2 \varepsilon_{ij}}{\partial x_j \partial x_k} = 0.$$

In 2D this is equivalent to only 1 equation:

$$\begin{aligned} & \exists U_{1} Z + \exists Z Z_{1} U_{1} Z = 0 \\ & \exists U_{1} Z_{1} \\ & assume \quad \omega e \quad bare \quad a \quad valid \quad s \cdot U_{1} \\ & \exists U_{1} U_{1} U_{1} \\ & \exists U_{1} Z_{1} \\ & \exists U_{1} Z_{2} + \exists Z_{2} U_{1} U_{1} Z_{2} \\ & \exists U_{1} Z_{2} + \forall U_{2} U_{1} U_{1} U_{1} U_{1} U_{2} U_{1} U_{2} U_{2} U_{1} U_{1}$$

So, basically all we need to do is to satisfy the compatibility condition

$$\begin{cases} \varepsilon_{ij} = \frac{1+\nu}{E} \{-\psi_{,ij} + (1-\nu)\delta_{ij}\psi_{,kk}\} \\ 2\varepsilon_{12,12} - \varepsilon_{11,22} - \varepsilon_{22,11} = 0 \end{cases}$$

$$\begin{cases} (\psi_{,11} + \psi_{,12}) \\ (\psi_{,11}$$

ME524 Page 8

 $\frac{V}{V} = 0 \text{ or } \overline{V^2 \overline{V_1 v_0}}$ equal another way this

- A function for which the Laplacian is zero is called Harmonic.
- A function for which * is satisfied is called biharmonic.

Any harmonic function is also biharmonic function but obviously not the other way around.

Compare the displacement and stress approaches:



The good thing is that there are a lot already existing harmonic functions



$$f(z) = f(x_{1}y_{1}) = U(x_{1}y_{1}) + U(y_{1}y_{1})$$

$$\xrightarrow{f_{1}x_{1}x_{1}} f_{1}(y_{1}) = (V_{1},x_{1} + U_{1}y_{1}) + U(Y_{1}y_{1} + V_{1}y_{1})$$

$$\xrightarrow{f_{1}x_{1}} f_{1}(y_{1}) = \int_{z_{1}}^{y_{1}} f_{2}(y_{1}) = \int_{z_{1}}^{y_{1}} f_{2}(y_{1}) + \int_{z_{1}}^{y_{1}} f_{2}(y_{1}) = \int_{z_{1}}^{y_{1}} f_{2}(y_{1}) + \int_{z_{1}}^{y_{1}} f_$$

• Any biharmonic solution can be expressed by Kolonov-Muskhelishvili complex potentials, ϕ, χ :

$$\Psi(x_1, x_2) = \operatorname{Re}\left[\bar{z}\phi + \chi\right]$$